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We always calculate profit & loss at the cost price.
Prorir (SP > CP)

When an article is soled at more price than its cost
price, then profit is earned. In other words, SP is
always greater than CP in case in profit.

Loss Price (SP < CP)

When an article is sold at less price than its cost price,
then loss is incurred. In other words, SP is always
less than CP in case of loss.

Profit = Selling Price - Cost Price

P = SP-CP
Loss = Cost Price — Selling Price
P = CP-SP
Profit
= 1{(0%
Profit % ~ CostPrice
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